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' Note: All questions are compulsory.
COAll questions carry equal marks.

Use of simple calculator is allowed.

£ Ql Answer any 2 from the following (7.5%2) 15
a)What is Over Capitilisation?What are causes of this?
b) What is FDI? What are advantages of FDI?
¢) What is fixed capital? Explain features of fixed capital?
15

Q2. Answer anp‘i'irom the following (7.5%2)

| _)A company wantg/ fo ise rs25,00,000 for expansion of projects. Following are the alternatives

. Avaﬂable for raising fitsincef

) Téstie 0f 2,50,000 equity sHagg€@rs10 each.

b) Issue of 10% Preference Shares affiounting to rs25, 00,000.
©) Issue of 9%Debentures amounting tours.28700,000.

EE‘BI‘I‘ of company is rs.15, 00,000. ‘

5 £ Ta.x rﬁte is 50%.

A Iﬁiisﬁng capital Structure of company is as follow:

. Equlty Shares-rs.20, 00,000(face value rs.10 each).Calculate EPS.

_)_SK Ltd has the following sources of finance against which cost of capital is given.

: .Source of Funds Amount(rs) Cost of Capital
] 30,00,000 15%
8,00,000 8%
12,00,000 11%
10,00,000 9% (Before tax)

0%.Calculate WACC.



€) Bharti Ltd. Sells its product at r5.40 per unit. Variable cost 15.15/unit. Calculate Degree of
Operating Leverage for 1000 & 2000 units. Fixed Cost .20, 000.If interest is 15.1000 calculate
financija] leverage for 1000 & 2000 units,

Q3. Answer any 2 from the following (7.5%2) 15
a) Following are the info given of Xy Lid. & Y Ltd,

mm‘

State of | Probabilj 2
Econom a

Boom

recession |95

Calculate Standard Deviation of X.
&) Briefly explain Systematic risk. \S\ .

. He
Q4. Answer any 2 from ¢he following (7.5+2) /O 15 , f

2) Explain three sources of short term finance,

b) Briefly explain Public Deposits and its features,

Project A | Project B

]
Investment 30,00,000 | 30,00,000 .
Life 5 years 6 years T

Cost of capital 12% 12% |




(8]

=t
7,00,000 LA

19.00,000 8,00,000

9,00,000 800,000

8,001000 8, 00,000

4,00,000 ML

= 2,00,000

¢)Profitability Index




